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READING TESTS 
 

Notes on the Marking Scheme 
Non-verbal Answers 
Follow the mark scheme as set out. 
 

Verbal Answers 
1. The basic principle of assessment is that candidates should gain credit for what they know, understand and can do.  The following guidance should 

be borne in mind when marking. 
 (a) Credit should be given for all answers which convey the key idea required intelligibly and without ambiguity.  A separate assessment of 

spelling, punctuation and grammar is not required on these papers because of the nature of the answers.  However, these aspects are an 
integral part of assessing communication and marks cannot be awarded where errors in spelling, punctuation or grammar lead to a failure to 
communicate the required information without ambiguity. 

 (b) Where a candidate has given alternatives or additional information in an answer, the following criteria should be applied: 
  - if the alternative/addition does not contradict the key idea or make it ambiguous, accept; 
  - if the alternative/addition contradicts the key idea or makes it ambiguous, reject. 
 (c) Where numbered lines are given within a question/section of a question, credit should be given for correct answers, no matter which line they 

appear on. 
 (d) Where a question has more than one section, a candidate may include as part of the answer to one section the information required to 

answer another section.  For instance, the information required to answer section (b) might be given as part of the answer to section (a).  In 
such cases, credit should be given for having answered section (b), provided that no incorrect answer has been given for that section in the 
correct place. 

 (e) Where a question or part of a question carries more than one mark, candidates are given credit for all the correct answers they give, even if 
they have given incorrect answers as well, except where any of the latter contradicts a correct answer that they have given. 

2. ...../..... means that these are acceptable alternative answers.  (.....) means that this information is not needed for full marks. 
3. In questions where candidates are asked to name, for example, three types of vegetable sold in the market, only the first three items they write down 

should be considered. 
4. Accept 

- T/F/? 
- Target language equivalent as instructed in rubric (eg. V/F/PM) 
- /X/? 
- a mix and match approach using the above, where the response is clear and unambiguous (eg. T and  are both used by the candidate). 

5. In multiple choice questions where candidates must choose one letter or number, they should automatically get no mark awarded if they give more 
than one.  If the rubric instructs them to write one letter or number in the box and they do so, but write a second letter or number outside the box too, 
then the answer in the box should be considered. 

6. No mark scheme can cover all possible answers.  When in doubt: 
- look for the key idea, where this is appropriate. 
- NFP = no further penalty 
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Higher Tier 
 

Q Keyword/concept Accept Reject Mark 

1(a) 
  (b) 
  (c) 
  (d) 

D 
E 
C 
G 

  1 
1 
1 
1=4 

2(a) 
  (b) 
  (c) 
  (d) 

E 
M+E 
E 
M 

  1 
1 
1 
1=4 

3(a) 
  (b) 
 
  (c) 
 

Students getting drunk 
Alcohol is not allowed 
Because they don’t want 
(alcohol/getting drunk) it to spoil the 
activity/exchange/visit 

 
Ban alcohol 

 1 
1 
 
1=3 

4(a) 
  (b) 
  (c) 
  (d) 

To avoid sunstroke 
Passport 
Photos (of the family) 
To write new words in 

 
 
 
vocabulary 

 
Pasaporte (Spanish word) 

1 
1 
1 
1=4 

5(a) 
  (b) i) 
  (b) ii) 
  (c) 

(Be) careful 
I don’t believe you 
Everything is OK 
Nod their head 

Watch/look out! 
 
 
Move head up and down 

 1 
1 
1 
1=4 

6(a) 
  (b) 
  (c) 

C 
A 
E 

  1 
1 
1=3 

7(a) 
  (b) 
  (c) 

That the typical image of Spain is 
not true 
B 
B 

 
 
 

 1 
1 
1=3 

8 Giving personal details Careful whom you chat to  1 
9 B   1 
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10(a) 
    (b) 

 
    (c) 

She needs her own (bed)room 
Not using the biggest room in the 
house  
Any two of – 
She could become more 
responsible 
She could keep her bedroom tidy 
She could keep her bedroom clean 

  1 
1 
 
1 
1=4 

11(a) 
    (b) 
    (c) 
 
 
     
 
 
 
    (d) 
 
 
 
    (e) 

The welcome from the (Spanish) 
family 
B 
Yes + because she wants to go to 
her parents’ wedding anniversary 
party 
 
 
 
 
 
Yes+ there are still lots of things he 
hasn’t seen 
 
 
Positive/in favour/they like them 

 
 
Yes +  because she wants to see all 
her family 
 
Yes + she is going to have a good 
time at her parents’ wedding 
anniversary party 
 
Yes + having a bad experience is 
not a good reason for not going 
back to a place 

 1 
1 
1 
 
 
 
 
 
 
1 
 
 
 
1=5 

12(a) 
    (b) 
    (c) 

A 
C 
B 

  1 
1 
1=3 

13(a) 
    (b) 
    (c) 

P 
P+N 
N 

  1 
1 
1=3 

14(a) 
    (b) 
     (c) 

B 
D 
E 

  1 
1 
1=3 
Total = 45 




